Al Q.

.

ull

A

-

ul

-

ul




26389l Haguls [ |

=]

fL

24

-

ul

8

4
2x3x4 =24 AqYrct,

6

| 2)
o]E

3

=




<t o

o | <

-

ul

my
iy
jjln
juy

o]

K
olJ
v
)
e
il
ol
U

_ﬂ_,
R
oju
X
=r

—

=
™

O
—

ol

m
]
9|
[
oju
]
=T

p—

=
o~

el
—

i

T oot <t o o |<H




o 5 % 9 A HE AL ol AA ZoAe

2 4 14 20 198
@; o; O 93 Yy
2 22 1

®E_12—2_6

4 4 =2 2

®6_6+2_§

14 14 =7 2

®ﬁ 21 =7 §

20 20 =10 2

@%_30+10_§

198 198 =99 2

@__ _

207 29799 3




2 UEALL.

24
25

0.96

-

ul




10 o 5 7192 LeRd off 219t B2po] A2 JLeHA] 9

10 102 5

28 28-2 14
(BEet B2tol 1) = 14-5=9




o2 BE4E 7|k e2 verd o, (1) 2 (2) o] B0 2 FL5HA L
10 9
(1) ' (2) 36
> £
> He: 7

Er ol Bxpo] FjFoks2 Lhirojof 7]k 4
A&

10 10=5 2
(1)5— 5+5 3

9 _ 9+9 1

()36 = 3629~ 1
webA] 3 44 =7 YUYt

= et

18]
=

A
e




s & BAS Rl A
ek [ |ote] orgt
B BR gog 29
(1) 2) 16 36
2) 8 18
4 9

0
o
Iy

0
L
©

v VvV VvV v. v Y
0x
n

~&B

(1)16 7t 36 <] X[h-3-<F

2) 16 36
2) 8 18
4 9

1 16+4 4
9 6 6+

()36 364 9

oA 2x2 =4 YJUrh

1_—_
T




104

130

2 sloppse vim ) et

10
13

@)

52
65

@

< o
|
© |©
[a N aN|
._. ._.
<o
S |»
|

104
‘ ® 30




olJ
Al
P
<
rl
el

Ho

ol

@ 48 3)76 @ 96 ® 120

O 24

Ayt

6t 8 9] Fuli4= 24, 48, 72, 96, 120, - - -




11, b2 BR7F 3 A 29 5 7|oRES @9t OF S2a AQUT,
SR 0] £ B4 BRE 247} Toto] AR HEOA L.

130 117)

@ ©) = (1o 10

v V. v V¥
0
ook
w

0
i
o

B *

130

o5 < 2 1307 195 9] HHFF9l 652 EReF BEAE g
yrt,
%g~ 1173 195 9] FHojgoF4el 392 Bl Bas sy

o,




2 1 12 7 27
D3 @3 o5 @ og
7|0 Hag me y|opH g (ehfRAL,

2 1x2 1
®6_3x2_§

1
@3

12 1x12 1
®_:3><12__

7
@_

1x27 1
©8_1 3x27 3
7
wetd 2717 e 24




B e o, 257} 1 2 4k oln A7

@ 0.8 ® 0.02 @ 045 ®)0.63

2 1
~ 100 50
45 9
T 100 20




14.

44

~ 100
46

~ 100

=0.44 °|22 0.4 < 0.44

= 0.46 ©]2.2 0.46 > 0.4




15.

12
15

3><3_9

3_3x3_ 9
5 5x3 15




4x9_36
5x9 45
5x10 50
8x10 80
3x6 18

Tx6 42
@ EA= Z2Y vt gEng
T Bao 27 e 5 fsyth
7X5 _ §
9%x5 45




17. BRI} A2 G0l 117 o1, SRS 2 o] Sk 248 TS

v
1

o4

OFRT B4 Rrmet Bate] g
® 42 F59S 1 1170] tetok gk
tﬂ "l—% Dﬂ' 0]-‘_’
6+7)x_]=117, ]=9
6x9

mebd Tk ke Bt 0 = 2 gy,




18.

w27F30 9 7=
1 7 11 13 17 19 23 29
30730 30 3073073030 30

S EEEEERERS

17 19 23 29

247 o]
30730 30° 30 B

o]al

]




19.

Al Aol 7hge] 5718 opr gk o
0 ez grted] g

Vg RS A

=)
2
1
ot
r d
1
)
=

A, o, WSl el £A
A Boeo) 2718 Hmeh o,
Co-Lel 12
5 10 10 2 5
( l) 48 35 4. 17
12 O 5 12
( l)_>_ R
12 12 12 2 12
metd £ > > 2 g




20.

@D 2,4

22 Jehy7] 9o BRE 1002 130k s

Z&% TH AR R 2 e FAYY7

HF%

SRR

@25 45 @48 58




21. ;o] R 14 & "2 W, 24l dukE "ok 242 2717}

ak4) U7

rE e

c} -
H =

>
> m™et: g

oHd -

a+[ ] a+[] oz
21

T+14

2 o Bmet o) A7 32

Follok 2717k WatA] o,

4x3 4+ |

Tx3 21

12=4+ |,[ ]=8




119 7119 71197 7 119 119 119

>
> ®HED 227

Tsh Huh

(7] i) = 118 x 7= 16---6 = 1671
(179 ¥i4) = 118 x 17 =6---16 = 674
(F2Z 5 = 259 7<) 16 + 6 = 22(7H)

B 119 = Tx170| B2 B2t Fof|A] 7oL} 17 9] vj=2] /4=




£ dstas 2 OWOM o] syt

qoj mar 1X5 5
ST 5x5 25
5
— AYrh




[a\R e

a ™

— |

77B

0[O

10 | ©
[a\ W Kap)
— |

(e.0)
~|%

[a e

YoV}
[a\][2n}

— |y

7_o.m

o

off Wefief Bl

w5te] 24

o

7€
5
6

m oo

on
0 | ©

[\B K]

— |
~ | %

N

et A




Punanlunge s
IT2AQ
12 12 12 19

AN EA7E 12 Q) 7|4 E B

B2Le] HpgulaE S8
24 12x2 24

p— - p— pdge]
40<D><2<279}E ]
VS 27 & & BRE H|isto]

40 B} 231 27 Bk 2 5 FollA

2 o] Bj$E B Fohd Hyh

[ ]=14,15,16,17,18,19 0|2 &

L 12 o
L R

—~

7)okE A




